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Instructions for the Candidates
Wiite your Hall Ticket Mumber in the space provided on the top
of this page.

2. This paper consists of fifty multiple-choice type of questions,

Al the commencemeant of examination, the question booklet will
e given toyou. In the first 5 minutes, you are requested to opan
the booklet and compulsarily examine it as balow ;

{1} Tohave access 1o the Queastion Booklel, tear off the paper
seal on the edge of this cover page. Do not accept a booklat
without sticker-seal and do not accept an open booklet,
Tally the number of pages and number of questionsin
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entared in the OMR Sheet andthe OMR Sheat
Mumber should be enterad onthis TestBooklat.

Each iterm has four alternative responsas marked (A), (B), (C)
and (D). You have to darken thagirgle as indicated below on the
correct response against each item.

Example: @ .. @

where (C) is the correct response,

Your responses o the items aredo be indicated in the OMR Sheet
given toyou. If youmark at any place other than in thecircle in
the Answer Shest, itwillnot be evaluated.

Read instructions given inside carefully.

Rough Work isto bedone in the end of this booklet.

If you write yaur name or put any mark on any part of the OMBR
Answear Sheet, except for the space allotted for the relevant
entries, whichmay discloss youridentity, you will render yoursell
liable to disqualification.

You havetératumn the test question booklet and OMR Answer
Sheettothe imagilators at the end of the examination computsorily
andmustnot carry it with you outside the Examination Hall,
Use enly Blue/Black Ball point pen.

Useof any calculator or log table ete., is prohibited.
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1. The revealed preference theory is based 1.
on the assumption of

(A) Strong ordering

(B) Weak ordering ( 5 P88
(C) Negative income elasticity R0ETEE &0l aﬂéﬁiﬁm
(D) Cardinal utility analysis TN BTt Joes
2. The kinked demand curve model [ I Bdr0ods 358 dsrol Sp DIV
Paul Sweezy explains B0

(B) Price rigidity in Oligopoly © (B) =80 ﬁgg;aaémaﬁs nlefalmtaietY
(C) Price determination in (C) esocs rgogHood” 46 HFabin
(D) Quantity determination in Duopoly (D) eSsocss Argopiond” 505 DPabise

(A) Price rigidity in Duopoly 0 (A) ol wrsogtosd” 6 GyEssn

3. The psychological law ef consumption is 3. S0HRE IAATH AP BET0H0U0 T
given by * (A) 5.5

(B) Milton Friedma (C) 2.e785
(C) J. Tobin (D) 2.05. 45
(D) J. M. es
4. ©OSEENES (G B0 TUE AY™
4. High- money is also called as SONESRED
oney (A) ecro® EHgin
ow money (B) Hods 3oyt
road money (C) o @ogo
plastic money (D) 535 essgoo

www.sakshieducation.com



www.sakshieducation.com

5. Knife-edge problem arises in

(A) Solow Model
(B) Kaldor Model
(C) Joan Robinson Model
(D) Harrod-Domar Model

. India’s Second Five Year Plan was
based on

(A) Harrod-Domar Model
(B) Mahalanobi's Model
(C) Joan Robinson’s Model
(D) Kaldor's Model

. Primary deficit is

(A) Fiscal deficit — relending by the
Government

(B) Revenue expenditure — revenue
receipts

(C) Fiscal deficit — interestpayments
(D) Total expenditure — total receipts

. Adjustment under gold-standard is carried
out by

(A) flexible exchange rate
(B) exchange controls
(C) variation in national income

(D) price specie flow mechanism

. The average annual growth of agriculture
during the Eleventh Five Year Plan period
was

(A) 4 percent

(B) 3.3 percent
(C) 2.5 percent
(D) 4.5 percent

5. DR-2§ oty D sermrEiayionsi

(A) & Ssara
(B) 3&C ssarwr
(C) &°S ollityS SJamer
(D) Fok- Gwed Bor

. GTOBOEBELSBONNY LETE B SHorar

esgrOal STaroosachsd
(A) TE - &50b Ssorw
(B) WroT00 Shorw
(C) £°S o5y Ssarer
(D) srerb ssormr

. Dol e ensre

(A) 5% &ex — Pehogtoos Dubevoeren
(B) 50800 —TRRTg Teaion

(C) §% &'ew —5¢ DhoPed

(D) Sootsos $50Ki500 — JooiHo Tredon

» g (e D55 ocko HKerea B0 TE B

RO e
(A) e Erosydew

(B) D50 Dohogieras

(C) erdorrorabtnd® Srtne
(D) && Fmrs aboEroian
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FBODS

(A) 47550
(B) 3.3zs5w
(C) 2.5 755w
(D) 4.5 7550
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10. The relationship between arithmetic
mean (m), geometric mean (g) and

harmonic mean (h) is

9= mh
(") m+h

(B) g=+mh

m+h
2

(C) 9=

(D) MNone of the above

Mote : Choose the correct combination

according to codes :

11. Which of the following factors a

responsible for changes in ﬁ\

l. Changes in cunsur@

Il. Changes inreali
lll. Changes in di tion of income

IV. Changes i ates of taxation

cote: &)

(A) 1 .nlyr
(B) 1l and Ill only
, Iland IV only

) LI land IV

8)

10. eo¥ Sogigsoses (M), oo $o8a%

FeL's) mc;sam:me:. a0k Gonas
mh 0

® 9=

; . BN DB % woTo8’ D eoe GirediEt

BTENE0 o Samow
. DN edtoed” Srtine
Il. ez esmroisond” Srdyes
lll. escras So2e3E’ Hogilod Srtneo
IV. 555 866° 55 Sranes
g5
(A) | 5B I Smsae
(B) 11508050 HSmsae
(C) I, Il 5x8cs IV SmEas

(D) 1, 11, 1l 5080 IV
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12. Which of the following are correct ?
. TC=TFC + TVC
_ATC
AQ
lll. ATC = AVC + AFC

TC
AFC=—~
V. =

. MC

Code:

(A) land IV are correct
(B) lland IV are correct
(C) I, Iland Il are correct

(D) 1, 1, Iland IV are correct

13. Inthe following diagram, ¢ = f(y) indi

Consumption

(C)

0 In
l. APC = MPC E
Il. Long run r@hip

elationship

lll. Proport
Code : @

(A) | only are correct
( ly is correct
and lll are correct

) I, lland lll are correct

R
12, &5 06" 92 9863BY
l. TC=TFC + TV

ATC 0
MC=2"">
I AQ

Il. ATC =¢+‘AFG
v, A
] \
B oo IV B0

ﬁmam IV 5052
Q) 1, 50600 15052

(D) 1, 11, 1 5oBams 1V 5852
13. Qo skedin s, ¢ = fly) s Dok

y’ A
C=fly)
DDRTHED
(C)
0 esgraisoo ly) Ex
. APC = MPC
Il. H=D8 Somogiin
M. esitomrs Homodssm

g6 :

(A) 1508000 I 500 Heand
(B) | 5o HBAHs

(C) Noboxo 113586305

(D) 1, o6k N385
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14. According to classical theory, an increase
in money supply leads to proportionate

l. Decrease in price level
Il. Increase in price level
ll. Fall in the value of money

IV. Rise in the value of money
Codes :

(A) Inland IV
(B) Inlland Il
(C) Inlland IV
(D) Inland Il

15. The theory of balanced growth was
developed by
l. Rosenstein Rodan
Il. Ragnar Nurskse
lIl. Hirschman

IV. Leibenstein
Codes :

(A) land IV
(B) lland Il
(C) land Il

(D) lland IV

16. Which of the fol ng are pure public

goods ?
l. Defence@
I. R ®
M. ights
I ucation
) I, Itand 1 (B) land Il
) land Il (D) 1,1, 1and IV

14, Sroparad vErodo (3
MG Sor G o
S5y

S5 wEnoest
e 50 Sy

. &&e i.;;méﬁ érgc.'ﬁm

Il &de Jnoss Focse

| e

& Bipce

esSd” G se

(C) 1l 5o8ax03 IV

(D) 1508ax:

15. Hosods e ?QCEO@:}JJKJJ @ﬁ)éﬂ}@ 250

. 82535 as Il. &b,y
. 256y, 3503 \ @@EE
£, :

(A) | Z0Bcin IV (B) =8
(C) Is0axs I (D) 15080k IV

16. 805 TS DI SogrgRes HEE SiydHes

. &5 Il &
. 28 &Jen IV. Jesg
&y
(A) I, saaes . (B) 15o8axe I
(C) I508axs Il (D) I, 11, Nl sobass IV
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Two of the following economists argued
that international trade is detrimental to the
industrialisation of developing countries

|. Haberler
Il. Ricardo
lll. Myrdal

IV. Prebisch
Codes :

(A) land Il
(C) lland IV

(B) land Il
(D) lNand IV

The reasons for fast growth of public
expenditure in India in recent years are

l. Urbanisation
Il. Interest payments
lll. Subsidies

IV. Defence expenditure
Codes :

(A) I, 1lland Il only

(B) 1, lland IV only

(C) I, lIMand IV only
(D) L L Mtand IV

The two regression lines will coincide
when

. r=0
. r=+1
M. r==i

V. r=0
Codes::

(A} lland IV are correct
(B) Ul and lll are correct
(C) land Il are correct

(D) land IV are correct

17.

18.

19.
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(A) 1, 15080 N somgEae

Il 5¢ DDoHed

V. &5 S0

(B) 1, 1l 558050 IV 5@
(C) 11, No80ms IV SrEss

(D) 1, 11, 50805 IV

Dot (BSIE0es Dpoo e DOBBN0
L r=0
. r=—1

5, :

(A) 11508050 IV 5652

. r=+1
V. r=0

(B) 11508050 11135863052
(C) 1508cx 11308

(D) 15585 IV 5665052
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Note : The following questions consist of two

statements : One labelled as the
‘Assertion’ (A) and the other as
‘Reason’ (R). You are to examine these
two statements carefully and select the
answers to these items using the codes
given below :

20. Assertion (A) : Indifference curves are

21,

convex to the origin.

Reason (R) : The marginal rate of
substitution of X for Y
(MRS,,) is diminishing.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R).is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) Both (A) and (R) are false
Assertion (A) : In monapolistic
competition, a firm
earns only normal profit
in the long run.

: A fiem in monopolistic
competition produces a
commodity which has no
close substitutes.

Reason (R)

Codes :

(A) Both (A) and (R) are true and (R) is
the carrect explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

SE: E0d Hheo Toth HSIreERs SRS |

20. PO (A)

21,

2% TP (9aress (A) SI8E0) 506 ool
T8y (R) ™ mEoTERP0. ot B P
Fesens $080od 1SR SG i &Nalrhiod
SRR mond DM,

BT SIXDpes
soredlotinhih
Enyoe oo GOt

s (R) D ool BST0 0eo X, Yo
o6 (MRS ) dedoiioiso
£

(AP(A) Sobaino (R) Sodir HOGLED SoBaba
(R), (A) 5 55c0as Judesm Dhpstioo

(B) (A)=8ato (R) oo ot 2écksa = (R),
(A) £ 5BE1 58T

(C) (A):0an =0 (R) 2oz

(D) (A) ss8a% (R)Bodor £ae 15059 57

OIS (A) 1 DEgos 2] 50,0500
2.87903) Hsemnd”
TRy TR0 SIER
Srodias.
Sr5s0 (R)  Docises DEyto; el
505" el Doy BAoD
PTEINOD0EN SRgYei
GEEDOHE
EEE‘:, .
(A) (A), (R) Dotir 3805 wod =% (R), (A)
& 501 503 @00 &0
(B) (A).(R) Bocir 505 =3 (R), (A) 21505
aleadies 3850

(C) (A)spsd =2 (R) :amg&:mﬁm 5o

(D) (A) &6 (R):5058

www.sakshieducation.com



22.

23.

www.sakshieducation.com

Assertion (A) : Life Cycle Hypothesis
attempts to reconcile
the short-run and the

long run consumption

functions.

Reason (R) : Short-run consumption
function implies that
APC declines as income
increases.

Codes :

(A) (A)is true but (R) is false
(B) Both (A) and (R) are false

(C) Both (A) and (R) are true but (R) is.not
the correct explanation of (A)

(D) Both (A) and (R) are true and (R) is
the correct explanation of (A)

Assertion (A) : Solow maodel of growth
predicts steady state

growth.

Reason (R) : Saving — investment
equality is assumed in
the model.

Codes :

(A) Bothi{A)and (R) are true
(B) {A) is false but (R) is true
(C) (A} is true but (R) is false

(D) Both (A) and (R) are false

22. 5o (A)

D ESEUEERSTW BIEE0
SRR &gse
DCIRMFIO B 0S5
5o BorsEon Dahota

BABHHE

ot (R) Wesorolbion DB
DD DTN (33538,
BRI pusre JUATH

g

(AY(A), 5056 =0 (R) S5056 ¢
(B) (A),(R)Tocr 5050 5%

(C) (A), (R) Bocir 155555 =2 (R), (A)% 509
seaSER T

(D) (A), (R) oz 50i52 mobako (RY), (A) ©

2300 5 ook
. N o o, o
. BOFEH(R) 1 FE ST e HBE

PGS 5YBR oW G

ey (R) P S - Dewed SETSE
HHoaosaw e S
Errobn

5%, :

(A) (A), (R) oo Bocr oD
(B) (A):pia o= (R) #9008
(C) (A):pst =0 (R) 5008 =°¢b

(D) (A), (R) eo Dok $3i50 5%5)
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24,

25.

Assertion (A) : According to
Ursula K. Hicks, direct
taxes are superior to

indirect taxes.

Reason (R) : The allocative effects of
direct taxes are superior
compared to that of
indirect taxes.

Codes :

(A) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A)is false and (R) is true
(D) Both (A) and (R) are false

Assertion (A) : Factor price equalisation
theorem dealswith the

effects of trade on factor
prices.
Reason (R) : Trade in goods has no
effect on factor prices.
Codes :

(A) Both (A)and (R) are true and (R) is
the correct explanation for (A)

(B) Both(A)and (R) are true but (R) is not
the correct explanation for (A)

(C) (A) is true but (R) is false

(D) (A)is false but (R) is true

24, 355 (A)

: e TERESTTED B8
S5fp0 g DS TTY
SRS

s (R) D B Do o,
Fironoyd) Herares BOY
He STy ParTe
Sy SRATHYEE00T Soid)

o,

EE(%“'J g

(AI(A), (R) Bocir 50655 =8 (R), (A) 585
B55E0 B[O

(B) (A), (R) Bocir 8652 B08ak0 (R), (A)
£ HOFY IS0 R0

(C) (A):ra e, (R) 5058

(D) (A), (R)Bodir 5rG=:5050 529

. et (A) F &hd seUTre o Shoiee
?choa‘ﬁm e S0
Gdo H0E PerTrein
aeaBoTiani
moeso (R) 1 &hd TUTe SO B 5UK
AR Vs lerih]
£, :

(A) (A), (R) ot 15353 (A) £ R85 D506
(B) (A), (R) Bocir 15055 =% (R), (A) % %6

o odaoliED
(C) (A)=5o50 == (R) 252058 =°¢

(D) (A)=oRo === (R) 5006
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Assertion (A) : Due to liberalisation
tele-density in India
increased from 18.2
percent to 76.8 percent
between March 2007
and December 2011.

Reason (R) : Tele-density varies
across circles and there
is significant urban rural
divide.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation for (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : The meanof the
binomial distribution is
np.

. The theoretical
distribution

p{'x} = FlGx : qn—x _p}( iS
called the binomial
distribution.

Reason (R)

Codes :

(A) Both (A) and (R) are true

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are false

26.

27.

OO O O
L PGSR BUDESE
@S 00 rogs
200%&iA1'8.2 zssa0ocm
e Aonb 2011 53
76.8 775500055 WBASS

$OFES (A)

MG STre So¢ss Q0TrogsBs”
HgEGRRO0CET 57
IET“EJJE'S—;‘E:E? oz $50G
Iree 38 Iogsd
:Jégsiﬂmmama

resy (R)

siE.x
(A) (A), (R) o> Bocir 2053 (R), (A) % 505
55563 JERRAGRO

(B) (A), (R)ew oy o= (R), (A) 5505
U5 FE

(C) (A):osd =0 (R) &y
(D) (A)w@p == (R):3oiss

& (A) 1 Bordootd Jerestes Qoo
eans n:cﬁém np

momso (R) 1 XToBbenms Jeresse
p(x)="C,-q""-p
5058 PTdoahs
AT ES 00

&y :

(A) (A), (R)Tocir ey
(B) (A)zp (R) &5y
(C) (A)&e (R) ey
(D) (A), (R)Boc &9
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Note : Sequencing Types (28-35)
28. Arrange the following in the order of their
development.
l. Revealed Preference Theory
Il. Indifference Curve Analysis
ll. Marginal Utility Analysis

IV. Modern Utility Theory

Codes :

(A) 1L, 111, 1and IV
(B) NI land IV
(C) I, Il 1l and IV
(D) H 1, IV and|

&
29. Arrange the following in the r::Nof their

duration
l. Short period @
Il. Medium perl*
ll. Market perm

IV. Long p

Codes :

(A) 1,

(B) I, 111, 1V, |
L1,V

) VL

2B. Biron T ed WPl ok
(28-35) 6

SEPOAEEA

@, 1, 1506053 IV
QE) 11, 11, 15080 IV

(C) I, NI, 1558055 IV
(D) I, 1, IV 5080s |

29, TUNRRSERN00DN AIDI TN EUd’ Koo

. S5yen sreik

Il S¢isos Tedw

lll. 558, sroiw

IV. &g sresa

5, :

(A) 10,0, 1V

(B) 11, 1,1V, 1

(C) 1, 1,1,V

(D) IV, 1L, 1, 11
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31.

32.
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Arrange the following in chronological
order

|. Absolute Income Hypothesis
Il. Life Cycle Hypothesis
lll. Permanent Income Hypothesis

IV. Relative Income Hypothesis
Codes :

(A) 1, IV, I, 11
B) I, I, 1V, |
(C) 1,1, 1,1V
(D) IV, 1,11, 111

Arrange the following in correct order
I. Human Development Index
Il. Gender Development Index
lll. Physical Quality of Life Index

IV. Gender Empowerment Measures
Codes :

(A) IV, 1,1, 11
B) 1,11, 1V, Il
(C) 1,1, 1,1V
(D) 11,1, 1V

Arrange the following in chronological
order

I. Modified Malue Added Tax
Il. Central Value Added Tax
lll. State Value Added Tax

V. Manufacture Value Added Tax
Codes :

(A, 1, 11, 111, 1V
(C) 11,11V, |

(B) IV, 1,11, 1l
(D) 11,1V, 1,11

30.

31.

32.

B BAS Lorogrosy Pl @PrGoRRGS
seeESond’ @rabod

. DG esorah DOI0E
Il 2255 B SOsEs

. 7% esgold> MBI
IV. % St So%eys
§°&y -
(A) IV, 1L 11
(C) s, 1,V

(B) 1, 11, 1V, 1
(D) IV, 1, 11, Il

B Q05 T 92 G0N HRE" BB
| SrETEG Brls
Il Qoif e s
. &7&% 85k Treagts s
IV. 8cr gt e
&y :
(A) IV, L0,
(C) 1,1, 1,1V

(B) LIV, I
(D) 1L, 1,101V
B 2878 TR SroEETRorbecn 8, Ro%n
|, SrGds Dooid eros $ih5)
Il. o Dens esgrds 55y
Il T@Qm;ﬁ GOs D)
IV. Bard Sy Dol egrdd ¥y
&y :
(A) 110,101, 1v
(C) I, 1,1V, 1

B) IV, 1,11, 11l
(D) 1, IV, 1, 11
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33.

34.

35.

Arrange the following in chronological
order

l. Formation of WTO
Il. Uruguay Round
ll. Formation of GATT
IV. Formation of UNCTAD

Codes :
(A) 1, 11, IV,
(B) I, 1, 1,1V

(C) N, IV, L
(D) IV, 0L 1, 1
Arrange the following in descending order

of their weightage in Wholesale Price
Index

l. Egg/meat/fish
Il. Milk
lll. Food grains

IV. Sugar
Codes :

(A) IV, 1,10, 111
(B) 1,1V, 11, 11
(C) 1L, 10, 1V, |
(D) 1L, n, L
Arrange the following concepts in which
they are used instatistical analysis
l. Sampling
Il. Data processing
ll. Testofhypothesis

IV Drawing inferences
Codes :

(A) 1,11, 11, IV
(C) 11, 1,111, 1V

(B) I, 11,1, IV
(D) IV, 1L, 1, 11

33. B0 55,5 T SoEsrsRigor HEh, S8

. (B0l Tredeyy Hoi IFen
Il &g Ssoesod
M. el Do
IV. @oz& (UJNCTAD) Somess
EEE:J :
(A) 1, A,
(CY I, IV, 1,

(B) 11, 1, NI, IV
(D) IV, I LT

. 50 305 rdsels oo aepton eNs oET

008 Dot
| e /550 133
0 e
. €558 risgsoo

IV. Souos

EEE:J .

(A) IV, L

(C) I, 1,1V, |

(B) LIV, LI
(D) LIV

. NeTol e ) enarmdy eed God ersites

TPOSSISIE05M

i

. BoBasso

Il. &orod (38

. 6% 0%
IV. “rsong dgubreko oreges
8%y

(A) 1,10, 11, IV
(C) 1,1, 101, 1V

(B) 1,11, 1,1V
(D) IV, 1L, 1, 11
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Note: Match List-l with List-Il and select the
correct answer from the codes given

below.
36. Listl Listll

a. Cardinal utility 1. Robinson
Theory

b. Ordinal Utility 2. Edward
Theory Chamberlin

c. Monopolistic 3. J. R. Hicks
Competition

d. Imperfect 4. Joan Robins
Competition

5. Marsh

a b ¢ d "

(AV3 4 5 2 Q\

B)5 3 4 2@

C)5 3 2*

(D)1 3

37. Which of tlaawing pairs is correctly
matched ?

(A) P le goods

Sugar

ublic goods Refrigerator

ivate goods Street lights

(B
s} Free good — Air

FE:  Boto whimed 206 FEREOW,

200653 POTES) &6 B0l srfiTe™
oOE aema&b

36. o |

@&3&:@8& woeel 3. 2.eb. 0k
o V eosogrg RIsonpel 4. oS oiSsS

5. 578

A3 4 5 2
B)5 3 4 2
€5 3 2 4
D)1 3 2 5

37. 200 36" soty womrad” Mok
2D TR MoDoTRE

(A) %50 SR0900 - BoBE
(B)

(©)

PENATN SHades — Dipeoed

e Sdodes — 26 &dren

(D) )

&8 SHIHed
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O R
38. Listl Listll
a. Law of Markets 1. Fisher
b. Quantity Theory 2. R. F. Khan
of Money
c. Employment 3. J. M. Keynes
Multiplier
d. Investment 4. J.B. Say
Multiplier
Codes :

a b C d
(A) 4 1 3 2

B)y1 3

%]
b

c)4 1

v]
(9]

i\®

39. Which one of the f i
correctly matched ?

Concepts @ Ecnnumists

@ d — A. W. Philips

Dy3 1 4 2

(A) Effectiv

(B) Risk
U

&
ty

(C) "Laissez-faire
emand Shift
& Inflation

- Keynes

pairs is

nd — Milton Friedman

— Charles Schultz

38.

o’b

Eob T 28550

o

e

o |

a. S0 LIS

C. &6,
P
%Mémsm 4, 2.8.%

2, b5 g3

3. 2.a0%. 45

a b ¢ d
A)V4d 1 3 2
(B) 1
4 1 2 3

D3 1 4 2

. OIS 3PS moty ®oTeEY RIS

22550 e0C PR MoBotomo

ThNes YT W

=

(A) g ool - D.Gag g PO
(B) Sgeioibmos, elgidd— gs @&tes
(C) esgstymm s — 85

(D) csrol axieroncy) — TS WG
l_dfﬁq:,mﬁ::
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M0 0
40. Listl Listll 40. e | i
. Sh i 1. M |
a. Shadow prices Gunnar Myrda 8. T &5t MO 2056
b. Rolling plan 2. De-Gule '
c. X-efficiency 3. Leibenstein b. ATl ety €. Gaiod
d. Indicative 4. J. Tinbergen C. X-Sriogsior 3. B8R
lannin B
a b C d G
A1 4 2 3 ays ¢ d
(B) 4 1 3 2 (Ap 1 4 2 3
)3 2 1 4 @) 1 3 2
D2 3 4 €3 2 1 4
(Dy2 3 4 1
41. Listl Listli
Name of the Name of the 41. o | =l
Committee Chairman : e
_ X20ed Totis Ty Dt
a. The Taxation 1. L. K. Jha
Enquiry a. SHoye doreT Hojo 1. 83 e
Commission 1953-54
1953-54 b st o
. : . . HEE SRy Jter 2.8 00,
b. Indirect Taxation 2. K, N'Raj PO R S0 TR o
Enquiry Committee 1977 33 1977
¢. Committee on 3. John Mathaiah C. Sgiarol e tals 3. ] Sy
Taxation of -
Agricultural Wealth HOSeEs
and Income d. B0 ITer 4. eb.B. D
d. Direct Taxes 4. R. J. Chelliah s
Enquiry Committee 5. 2,95, oS
5. K. N. Wanchoo
Codes : 56
a_ B “c d a b c d
(A)2. 3 1 4 A)y2 3 1 4
B 1 2 5
CIN B3 1 2 5
(Chd 3 2 1
D)5 4 3 o (C)4 3 2 1
D)5 4 3 2
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LT
42, List! Listll 42, i | =
a. Freetradearea 1. Norestrictionon 8. STl D et a9y
trade and factor e s
movement Q' esogen 808
b. Customs union 2. Trade is free b. 5@??&0‘:{:5 2. Sy Tedegioo
®
and no customs \ ol 555
duties @N Hoosen &0l
¢. Common market 3. No customs o C. &ifirD,es 3. 555 v
duties, commo FogErenolad, 350
duty on e p 245
non-m Ergeden &t
d. Economic union 4. Aﬁ d. 0% anrnS 4, Hisses HEonst
@f oo
egration

§G, :
Codes : *
b d

Q A2 1 3 4
(A)2 1 4

&' B3 2 4 1
(B) 3 4 1

& 2 o ©2 3 1 4
éﬂ} 1 3 4 2 D1 3 4 2

www.sakshieducation.com




www.sakshieducation.com

IR
43. The following table gives the Central | 43. & &ron Dy Tropes 2 gPOE (a0
Government Expenditure on Social 2011-12 Hond® 2o OO0 FGEIGEE.
Services during 2011-12. DG Sgoredo @ £33N
List| Listli & | ® il |
(Items) (% of total ) (Rooe Sropol
social & \ 505008’ T
services \ THEEA)
expenditure) @:csg, estoen, atoses 1. 4.63
a. Education, Sports, 1. 4.63 o S350
Youth Affairs b b. esEigH 00000 2. 2.15
b. Health and Family 2. 2.15 b Henon o850
Welfare c. Dunssomeans 3. 2.10
)
c. Water Supply and 3. 2\ 15 Somgsos
Housing Q d. B5TTE $o8ao 4. 0.20
d. Information an .20 Eheroren
Broadcasting g,

Codes : 0 a b & i
a b@ d
A1 2 3 4

(A) 1 Y3 4
B3 2 1 4

( 2 1 4
a o €2 3 1 4

o4 1 2 3
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00 O
44, List| Listll 44, wioe | sz
a. Averaging time 1. Mode a. Srenw, Odwe il BrTovEE
and rate b. thrse Bewe St 2 003G
b. Averaging rate 2. Median C. (@0 3. oes BogiHaw
of growth d. 235 HRTBES 4. 3 BolgEasioo
c. Middle item 3. Geometric =
Mean voig
d. Mostrepeated 4. Harmonic Mean o 5. @O¥ RGN
item 86
5. Arithmetic a b c d
Codes - Migan (Ap2. 1 4 3
P Bps 2 3 4
A2 1 4 3 ©4 3 2 1
B5 2 3 4 D)3 4 5 2
(Case s el 45. BoFES (A) 1 ereistoo do,
@3 4 5 2 EGEREa0 IR
_ AT A
45. Assertion (A) : The variance of a . ) x .
distribution is ‘alivays s (R) 1 uden ofedigione
positive. R00cs By JbeTre ST
Reason (R) : The variance.is the e
average of the squared §°Gy
deviations from the i
-y ¢ (A) (A), (R) e e, =29 (A) 2 (R) 56270
Codes : ~0E
(A) (A) and (R)are trie but (R) is not the (B) (A), (R) e e (A) £ (R) S0c05 2586
correct explanation for (A) (C) (A) ey, 59 (R) B3y

(B) (A) and (R) are true but (R) is the

e, E o
correct explanation for (A) (D) (A) &y, 570 (R) e

(C) (A)is true but (R) is false A6. 8K Dngﬂé* DDT‘?&,:@ “\‘g:'f.r’té F55a0(ES ST ggg
(D) (A)isfalse but (R) is true e
(A) esogEts
46. Which State has the largest coastal area B
inIndia ? (B) sabvorei
(A) Andhra Pradesh (B) Tamil Nadu (C) =¥
(C) Kerala (D) Maharashtra (D) SO
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Read the essay given below and answer
guestions from 47 to 50 based on your
understanding of the passage :

Parallel to pauperization in the rural sector, air
and water pollution from urban economic
activities is a cause of environmental
degradation in developing economies. The
problems of pollution due to such factors as
emission of noxious gas and water from
factories, and piles of waste from urban
households are universal, but often more
serious in developing countries. It is important
to recognize that environmental pollution from
these sources tends to progress faster in
developing than in developed economies.

Advanced economies have reached a stage
at which the weight of economic activities shifts
from the industrial to the service sectors in
response to economic growth, so that
consumption of energy as the basic source of
pollution grows slower than growth in national
income. Moreover, people in the high-income
economies have high preference for
environmental amenity relative to present
consumption. Therefore, they are.more prone
to accept environmental regulations and
taxation at the expense of their present income.

In contrast, in the early phase of
industrialization, the share of industry in
domestic income_expands, resulting in
increases in energy consumption faster than
growth in national produet. This tendency is
often exacerbated by the policy bias to promote
heavy and chemical industries from the early
stage of development. Since anti-pollution
regulations are usually weak in developing
economiesyincreased energy consumption in
the industrial sector tends to swell emission of
noxious gas and water. Moreover, as many
develaping economies entered the era of
motarization before railway networks were
established, the density of automobiles has
bheen high relative to their income levels,
resulting in extreme city transportation

congestion and serious air pollution.

T QIS UREed Traieste WRLD BERC 47 Ssod
50 555 Ko (55,05 TypsoadleoBbEtomist, T0
eiios LSBT HEPERINTS g,

@f3\0 Dodosodf ogred” e JoNo
CEg]

Dioedoiboodots SoIEaReiy HETed RS &y
ToOK0 $00K0 M6l Txpoipe Boiy woTTed)
oo SOREBERSFIoNND T TBINBIND.
Sreosp S0 om"‘éo?v SoEbeioed Jde Dobhed
DART0s FoRe Sod o Ses, Shoedts
De00) 0 FFeoos e 5o g8 STren I
TRy SORTLOTT @iy tTod’ ”"Jxrpnmwaﬁg LEJ‘*‘-,E}
e FTed 5 woTres 2505 STeoaly) Sh BRoD
::}U“g;lﬁﬁ? esriodhoedn s, E_"CSE‘QDFT“ E‘f:n"' f;.:ljn..\} R
SERRBES Treoand SRl woTe BeTEo
N0 Doi Trred” Kon efi) Dot dTed’
D) 5T (PeTr) SR)BIToid) 28,550y,
ksf)isNg Dotiio B ed’ Fo@ nedste (&t g
Treads e9d) IToNo ) CHETTR) St E R0t S efl
ROGH TS0 Jo8 A ooy Ot PSATTAD
;SJQEE.L £3) S5 SATG0 SRGIBIN0.
20557 ef))d Tohks Diod” Hweo (s DKo
ET7) SOOI @oT O JE) 'ﬁ‘ﬁ”ﬁg@ﬁ?@nm e
TEE0TT €9 3 RO ey DOOEEED Honolods Jobl,
cRICCieeRg lﬂmd&'n}e T0 G070 S esTraed” o o 50,0
BT S3i0yed DYOTED BoRNEGBN HyEICRTAL.

RS BOVY o0 PIom efNyn F8 Gie ad®
ﬂ“&@mﬁﬁﬁ §05 5% oGy JUArRouts
S erodTIrad 5 g,%&éﬂﬁg ""ﬂ.a;w& o..w&?.m: LU
Goce) MiodoNston. &9 FOF-E S¥08 &b
080 SO SBESos IS Domen BioSHek
Gotwod. T edNHB Do umé‘ Srenky
DODoBEs WI5w T e &% T wedrsseon
€0CiEnE0 MAOEHED. @R0 Dothiniy dTod’
510 Dowatoxy BOFESe Hood JEND YOS
TADOHED, SRS ), Se0R) SO0,
©0B S°¥ T efd Doction DT ed” wIbENR)
QAToidEtEs, I8, TR VTS0, DG G5
AT TET R0, FBS TG Doy WbE ST

kSR H:_\,jfxg‘go?;]&:ﬁaéﬁﬁ ZTaabvieviV S“enﬁféﬁé
OGN,

www.sakshieducation.com



www.sakshieducation.com

47.

48,

49.

50.

Which of the following is not a factor of
urban pollution ?

(A) Noxious gases (B) Waste water

(C) Deforestation (D) Solid waste

Which one of the following is not a reason
for reduction of pollution in developed
countries ?

(A) Shifting to small and medium
industries

(B) Shifting to service sector

(C) Strict environmental regulations and
taxation

(D) High preference for environmental
quality

Developing countries are suffering from

high level of pollution due to

(A) Lack of strictimplementation of
environmental regulations

(B) Increased energy censumption by
industries

(C) More automobiles

(D) All the above

People in developed economies prefer
(A) More Present Consumption
(B) More Present Income

(G) Better Environmental Quality

(D) Less Taxation

47.

49,

50.

BIG TS D6 Hées TosTSDNoEn S e
(A) ISITE8 TALDHE

(B) Syorsmad 48

(C) ecEpe dsTes

(D) o8 @ RTToo

. oPHOROIN D70 Sheoay)y BOBED

BOIS 00 208 T3S D6 7

A IR So00h0 Mol HUF BhENe
B
oD

(B) ‘o Somrdd Srdot

(C) 5830 Dorgidn Jabo@ees Hodaks
SR

(D) Sorghde Teat ehs @“5“&’3563

wfE Do) BTe0 R Troo eyl

SORCL00EEIS SH0es00

(A) Sorgite JoboEhes I PuBRoT
5000 HoNSENEHE

(B) 6@s0e 05 5o¢is DDDTNEL

(C) RorerSo T5Faren Do

(D) 2% HEH 5

o3 Dot STl Hues AHITNE O
S YD

(A) 25035 DGR VDTS

(B) 2505 30098 estralrd

(C) ey STgitestan T

(D) &2n5 Sdaws
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ECONOMICS - PAPER - I

(SUBJECT CODE-05)

Q.No | KEY Q.No | KEY
1 A 26 B
2 B 27 A
3 D 28 B
4 A 29 Cc
5 D 30 A
6 B 31 D
7 C 32 B
8 D 33 C
9 B 34 D

10 D 35 C
11 D 36 C
12 C 37 D
13 D 38 C
14 B 39 D
15 C 40 B
16 C 41 B
17 D 42 C
18 D 43 A
19 B 44 C
20 A 45 B
21 C 46 A
22 Cc 47 C
23 A 48 A
24 B 49 D
25 C 50 C
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